3 mA o] dolk geme) A WA AHolS F5HAL.

BA 9] Dol)x (3 2= 9] Zol)x6
9x9) x 6 = 486( cm?)




A ] Zol7F12eml AwHAo] HHolE A AS A=A L.

@ 66 cm? @ 121 cm? (@)8640m2
@ 1331 cm? ® 132cm?

BEHA= AAZ o] 670l B2 AYol=

(12 x 12) x 6 = 144 x 6 = 864( cm?) YU T},




3. 08 F Rt AL 29 ofn AQUR

® 6m?

@ 53m?

@)900000 cm?

@ & BAE ] Ao|7t 1.2m 1 HKHA ] Hox]

® 7F27F 1m o] AI27}0.5m, E°17F 2m ¢ A8 HA o] 2o

B

HOE m?® 2 1HA Bl
@ 6m?

@ 5.3m?

® 900000 cm® = 0.9 m?
@12x1.2%x12=1.728m?
®1%x05x2=1m?




2L ol Aol g Yolg g
7} 2HA 5k Yol o] xpA]st= Yol 2
24 B2 A7) B Al 2.)

%Ethl |:|:|-L:|0| i ,
(A A]:3200km”)

= e FAA |22
(32%) ©6%) | (16%) |11%)| 71
® ©°F 34.37% @Oﬁ 34.38 % @ ©F 34.39%
@ °F 34.41% ® °F34.42%

(7-5H= H]&)= 11 =+ 32 x 100 = 34.375( %) ©|E&
2= AR A2 ol A W2 SHA oF 34.38 % o] HU .




—X8+4
7

0 |-

<t I~

o I~

o |~

— | b~

~ b~
Il

—
X
N,

| b~

= X8+4=
7




6.

193} o] Bo] 5em ol ® Sof 9k
Qe 2] Eol7} 7em7} H Tt

(B2 H1])= 896 — 640 = 256( cm?)




2= x4+3
4 4 1 4
2= X4%3 2= X4 X = 2= +4x%x3
R T S
2— +4x — 2— X — X =
@ 27 +dx3 © 22 x5 %3

B

1 - _
= (A= VA A AlAFSH
1'(]'1__ )le(x"_?i/\)i—]—ﬂ:'lﬂl_ﬁqu}-
2§x4+3:2§x4x%




8. OB Al HE 2 A Ee 5 AASU

40! (h

! \ ! 2cm
! 4cm LS /
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